Economics 330: Money and Banking (Professor Kelly)

Spring 2001

Midterm #2 Answer Key
Disclaimer: The following answers are representative, but are not comprehensive.  Other responses may be valid.  We apologize for, but are not responsible for, any errors.

Identifications:  Each ID is worth a maximum of 4 points (out of 50 on the exam) – two points for an accurate definition, and two for the importance of the term with respect to this course.

1. Non-Borrowed Monetary Base:  Refers to the open market operations of the Fed and is calculated as monetary base minus discount loans. Unlike discount loans, the Fed has complete control over open market operations and thus over fluctuations in monetary base and money supply. Most of the fluctuations in monetary base and money supply can be attributed to non-borrowed monetary base.

2. Lender of Last Resort:  Refers to the role of the Fed in ameliorating the financial conditions of distressed banks by lending through its discount window, thus averting financial crises and panics. In the postwar period, the Fed has played a remarkably active role as a lender of last resort. Example: Fed’s bailout of Continental Illinois and Fed’s readiness to help out banks during 1987 stock market crash.

3. CAMELS Rating:  Bank examiners give banks a so-called CAMELS Rating--based on Capital Adequacy, Asset Quality, Management, Earnings, Liquidity, and Sensitivity to market risk—to determine financial system soundness. This is an important risk-management technique and is very useful to examine financial health of troubled banks and helps in averting banking crises and panics.

4. Float:  Float is defined as “Cash items in the process of collection” minus “deferred-availability cash items.” Float is important because depending on whether Float is high or low, the Fed conducts defensive open market operations

Short Responses:  Each Short Response is worth a maximum of 6 points (out of 50 on the exam).  Your explanation determines your grade – point values given below are merely suggestive.

1. The Federal funds rate equals the discount rate and both move in the same direction.

a. (3 points)  The Federal funds rate does not equal the discount rate. The discount loan is the rate charged the Fed from borrowing banks while the Federal funds rate is a market interest rate determined by overnight inter-bank lending and borrowing.

b. (3 points) They however move in the same direction. If the discount rate goes down, banks borrow more from the Fed, bank reserves go up. That is equivalent to saying that supply of reserves goes up (Figure 2, chap 17, page 438) and the Fed funds rate declines. Empirically, the discount rate and the federal funds rate are seen to move very close together (page 443, Figure 4).

2. When the required reserve ratio is zero, the money supply is infinitely large.

a. (3 points) If we take into account the very basic money multiplier formula 
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, the money supply will go to infinity if the required reserve ratio is zero. The intuition is that the banks lend out all their excess reserves, which is going to have an infinite deposit creation and hence infinite money supply.

b. (3 points) The correct money multiplier formula, however, tells us a different story. If we look at 
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 which takes into account the existence of currency and excess reserves, 

      money supply will never go to infinity even if the required reserve goes to zero. Money supply will go up

      though by a large amount.

3. Lowering of the discount rate by the Fed implies that the Fed is moving to a more expansionary monetary policy.

a. (3 points) When the Fed lowers the discount rate, ceteris peribus, banks can borrow more money from the Fed. This will increase banks’ reserves and money supply will go up, holding every else constant.

b. (3) However, ceteris peribus is a very strong assumption to make in this context. Due to announcement effects, the Fed may signal a decrease in Federal funds rate such that the gap between the discount rate and the Federal funds rate does not change significantly. Also the Fed is very conservative in its lending to banks under discount window and this kind of lending comes with a lot of strings attached. The net change in discount loans due to a change in discount rates may be very minimal.

4. From a macroeconomic standpoint, the more independent a central bank is from the government, the better.

a. (2 points) A more independent central bank minimizes inflationary bias of monetary policy and political business cycles. For example, countries with very independent central banks like Switzerland, U.S., Germany, Japan have very low inflation while the countries with less independent central banks like Spain, Italy, New Zealand, Australia have very high inflation rates.

b. (2 points) However, from a macroeconomic point of view, there are other important variables like GDP, unemployment, exchange rates, that may have to be taken into consideration. Monetary policy may impact these variables differently than inflation rates.

c. (2 points) Fed independence may not be an unmixed blessing. At times, the Fed’s actions are deemed to be undemocratic and it prevents synchronization of monetary and fiscal policy.

5. An interest rate cut by the ECB will increase output in the U.S. economy.

a. (0-2 points) An interest rate cut by the ECB will stimulate domestic demand and will increase ECB output by the multiplier effect. The EU will import more from the U.S. United States GDP will go up due to increasing exports.

b. (2-3 points) An interest rate cut by the ECB, ceteris peribus, will encourage capital outflow from the EU to the U.S. assuming higher interest rates in the U.S. This will strengthen the dollar, the currency will appreciate, encourage more imports and will be a drag on exports. As a result, the U.S. GDP is expected to go down.

c. (2-3 points) The United States may also decide to cut interest rates. In that scenario, the interest rate differential does not change and there is no net change in the U.S. economy. 

6. Open market operations can be directed at achieving a desired quantity of balances (as specified by the FOMC) and a desired price level.

a. (1-2 points) Targeting the money supply will lead to fluctuations in the interest rate because of fluctuations in money demand.

b. (1-2 points) On the other hand, targeting the interest rates will lead to fluctuations in money supply, again due to fluctuations in money demand.

c. (1-2 points)  The upshot is that interest rate target and money supply targets cannot be achieved simultaneously.

d. (1-2 points) Overall quality of answer, say, drawing the figures drawn in class or in chapter 18 (pages 460-61) will fetch one to two extra points.

Essays:  Each essay is worth a maximum of twelve (12) points.  Points are roughly distributed as indicated below.

1. Using money multiplier theory and evidence from the Great Depression of the 1930s, explain how bank failures and bank panics lead to a rapid decline in the money supply.  Why was the Fed’s monetary policy ineffective to stem the abrupt nosedive in the money supply?

a. (4 points)  Currency Drains:  No deposit insurance existed until 1933.  Banks began to fail in agricultural regions in 1929, which precipitated attempts by consumers to convert checkable and time deposits into currency.  This increased the currency to deposits ratio by over 50%, causing the money multiplier to decrease.

b. (4 points)  Excess Reserves:  As bank panics occurred, banks foresaw increased deposit outflows and increased their liquidity by holding more excess reserves.  In addition, there were few good lending opportunities so banks had little incentive to loan out excess reserves.  Consequently ER/D increased by approximately 400% between 1929 and 1933.  This reduced the money multiplier, reducing the money supply.

c. (4 points)  The Fed:  The Fed’s stated purpose was to ensure stability in the money supply, not to be active.  They poorly understood the money multiplier, generally, and particularly the role of excess reserves.

i. Unofficially targeted net free reserves, believing that an increase in excess reserves corresponded to potential for too much lending.  This policy is procyclical.

ii. Believed that bank failures were a consequence of poor management, and didn’t understand the adverse effects of bank failures on the economy.  Consequently the Fed did not aggressively act as lender of last resort to increase liquidity and confidence in the economy.

iii. Fed increased the monetary base by approximately 20% over 1929-1933, but the money supply decreased by approximately 25% over the same period.

2. Explain how the following four players affect the money supply: the Fed, depositors, banks, and borrowers from banks.

a. (3 points) The Fed

i. Change MBN ( MB – DL via open market operations

1. Open market purchase increases non-borrowed monetary base by the amount of the purchase, and increases the money supply by (C + m(R

ii. Change Reserve Requirements

1. Increase in RR reduces loanable funds, reducing the money supply via the multiplier (m)

iii. Discount Rate

1. An increase in rD makes it more costly for banks to borrow at discount window; DL will tend to decrease, and monetary base decreases 1-1 with reduction in DL

b. (3 points) Banks

i. Elect how much to borrow from discount window

ii. Choose ER/D ratio.  The more ER a bank holds as a fraction of deposits, the less is loaned out – the money supply decreases via m

c. (3 points) Depositors

i. Elect how much currency to hold, and thereby choose C/D; the larger are currency drains, the fewer reserves banks have and the lower is m

ii. Can affect (indirectly) ER/D via expected deposit outflows

d. (3 points) Borrowers

i. Indirectly affect money supply via market interest rates

1. As interest rates increase, the cost of ER increases so ER/D decreases – m increases so the money supply increases

2. As interest rates increase banks desire to make more loans; if iD fixed then DL more attractive – DL increase, increasing the monetary base and money supply.

3. How did financial innovation and new legislation (DIDMCA and Garn-St. Germain) lead to S&L and bank failures in the early 1980’s?

a. (6 points) Financial Innovation

i. Financial innovation decreased the profitability of traditional business for commercial banks.  Banks faced increased competition for liabilities and were pushed out of some lending markets.

1. NOW accounts were not subject to Regulation Q and paid interest, plus gave check-writing privileges

2. MMMF’s not subject to Reg. Q, paid interest, highly liquid

3. Junk bonds and commercial paper via alternatives to bank loans

4. Securitization and computers reduced the competitive advantage that banks held in making loans

ii. Banks sought new assets to keep up profits, but these assets and new activities were potentially risky

1. Put higher percentage of loans in highly leveraged transactions

2. Increased off-balance-sheet activity.

b. (6 points) Legislation:

i. DIDMCA

1. Increased deposit insurance from $40,000 to $100,000 per account and did not rule out brokered deposits.  These increased moral hazard for banks

2. Eliminated Regulation Q – the most risky banks were the ones that paid the highest rates, putting pressure on previously banks.

3. Allowed NOW accounts.

ii. Garn-St. Germain

1. Allowed new assets: commercial loans, consumer loans, and commercial real estate loans.  These loans are more risky than home mortgage loans, and banks/S&Ls additionally were inexperienced in these markets.

2. Allowed MMDA’s

3. Gave FDIC and FLSIC emergency powers to merge banks and thrifts across state lines – essentially allowed deposit insurance agencies to try to shore up failing institutions so as to minimize future losses… failing institutions simply dug themselves deeper.

iii. CEBA

1. Recapitalized FSLIC

2. Allowed for regulatory forbearance in economically depressed areas

4. Suppose the government authorizes a new spending program, holding taxes constant, that results in overall government spending increasing by $10 billion more than its current level of spending.  Describe the financing options open to the government with regard to this new spending program and then evaluate the new spending program in light of its effect on the monetary base and hence, the money supply.  Be clear and precise in your discussion of the various options available to the government.

a. NOTE: The government cannot change taxes in this problem!

b. (6 points) Bond sales:

i. If the government pays for its purchase by selling bonds to the public, there is no effect on the monetary base and hence on the money supply.

1. Public holding of bonds increase by $10B.  The government turns around and spends the proceeds of the bond sale, which are then held by the public as currency or deposited as reserves.  Either way, the monetary base is unchanged.

2. It doesn’t matter whether the U.S. public or rest-of-world public purchase the bonds, since they are purchased with U.S. dollars.

c. (6 points) Monetization:

i. The U.S. Treasury cannot simply print currency to purchase items, so the alternative is monetization of debt.  In this case, the government sells bonds directly to the Fed, and the monetary base increases by the amount of the purchase.

1. The government issues $10B in debt to acquire the funds it needs to make its purchase.  If the public doesn’t purchase the debt, the only alternative is that the Fed purchases it.  For the bonds to not end up being held by the public, the Fed must conduct an open market purchase.  This increases the monetary base in the usual manner.

2. The Fed, being fairly independent, does not engage in debt monetization.

d. (0-3 points) Loans from other nations:

i. Loans from a foreign country to multinational institution (e.g., the IMF) do not change the monetary base.  Dollars are purchased, the dollars are loaned to the Treasury, and then the Treasury gives the dollars bank to the public.
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